BIEST RN T E / Crimp contacts pin and Tools

R EERRET Crimp contacts

10A SIEET

ZE e

(HBER)S RS /Crimp contacts silver-platea

iR E AEKE | A | IES | SR | IES Pl
) Identification | Wire gauge Stripping length | gl | Part Numder| Female |Part Numder| B2
Material: copper no goove | 05 mm’| AWG 20|  80mm | COM0S5 CDF-0.5 115
BEfbEBE/Contact resistance: <3mQ Tgoove | 075mm’'| AWG 18|  80mm | cOM075 COF-075 13
Tgoove |10 mm’| AWG 18|  80mm | COM-1.0 CDF-1.0 145
ﬁi‘ [ A =v
B RETEER 2goove |15 mm'| awe 16|  8omm [ coms CDF-15 175
Terminal: crimp connection 3goove | 25 mm'| AWG 14 8omm | COM-25 CDF-25 225 M
($E%)S EEHHE/Crimp contacts.Gold-plated
. = = 5 . = =
—— 4] nkE | gt | URS | SR | US| R ] ==
dentification |  Wire gauge Stripping length | pale | Part Numder | Female |part Numder| B J‘; 1
no groove [ 05 mm'| AWG 20 80mm DDM-05 DDF-05 1.15 ~ 22 (L‘?)
- 1 goove [ 075mm’| AWG 18 80mm DDM-0.75 DDF-0.75 13 3‘ e
+ 1 groov e 10 mm’| AWG 18 80mm DDM-1.0 DDF-10 145
2 goove |15 mm’| AWG 16 80mm | DDM-15 DDF-15 175 F
3goove |25 mm| AWG 14|  80mm | pDM2S DDF-25 225
TE Tools
SESH Manual hydraulic clamp
BB
Wire gauge BIS/Type 1J£55/Part Numder
0.5-4mm? CRIMPBOX-0.5/4

1B§H#8 Removal tool

1EFEZEE For

BIS/Type

17585 /Part Numder

10A SEE
Crimp contacts

REMOV-GD

B EEERE Crimp contacts

16A SEET

=2

(4ER)S EREEEET/Crimp  contacts silver-platea

. e 0 7 bl N = THE
ik 1 ldenﬁ%}auon Wirﬁtuge S"ip?mﬁﬁfmh AI\EI? Pa?ﬁﬁwder Eznﬁzflt Pa:t:r il:lx:?_nder g%
Material: copper no groove | 05 mm’| AWG 20 75mm | CEM-05 CEF-0.5 1.15
JEMEBE/Contact resistance: <1m Q Paroore 1075 mm {7 WG 18 |7 T75mm 7 [IGEbors CEFO75 13
Tgoove |10 mm’| AWG 18 75mm | CEM10 CEF-1.0 145
B RETEER 2goove |15 mm| awG 16|  7smm | cemas CEF-1.5 175
Terminal: crimp connection 3owoe |25 mm'| NG 14 fomm | ek CEF25 25
wide groove [ 30 mm’[ AwG 12 75mm | CEM30 CEF-3.0 255
no groove 40 mm’| AWG 12 75mm CEM-4.0 CEF-4.0 285
($ES) S EEEE/Crimp contacts.Gold-plated
A 30 HEKE | A | TS | BiEH 1J585 5
Identification |  Wire gauge Stripping length | gl | Part Numder| Female |Part Numder| B2
no groove | 05 mm’| AWG 20 75mm | DEM-05 DEF-0.5 115
1goove | 075mm’| AWG 18 75mm | DEM-075 DEF-0.75 13
Tgoove |10 mm’| AWG 18 75mm | DEM-10 DEF-1.0 145
2 goove | 15 mm'| AWG 16 75mm | DEM-15 DEF-1.5 175
3goove | 25 mm’| AWG 14 75mm | DEM-25 DEF-2.5 225 E
widegroove | 30 mm’| AWG 12 75mm | DEM-3.0 DEF-3.0 255
no goove | 40 mm’| awG 12 75mm | DEM-4.0 DEF-40 285
THE Tools
BEfH Manual hydraulic clamp
A
%i%fgﬁge BIS/Type 1TE52/Part Numder
0.5-4mm? CRIMPBOX-0.5/4

’

B2 Removal tool

~~

IEFEZEEL For

BIS/Type

1JE85/Part Numder

16A SEH
Crimp contacts

REMOV-GEE

PAGE / 377



B EE IR TR / Crimp contacts pin and Tools

& EIEEET Crimp contacts 40A BEE %3

I
il
e
N
2
>
0
O

(54R) S EEIERE/Crimp contactssilver-platea

Lz R B WEKE | Amd | U= | BREg | %= | B

Identification |  Wire gauge Stripping length | gl | Part Numder| Female |Part Numder| Ef#

Material: copper

no goove | 15 mm’| AwG 16|  9omm | camis CCF-15 175 i;l— Aa {
1
$EARERRE/Contact resistance: <3mQ ! 9ove |25 mm’| AWG 14|  %mm | ccu2s CCF25 225 88— JT
LTI A - Tgoove | 40 mm’| AWG 12 96mm | CCM40 CCF-4.0 285 f -g_ej/
el RETRER 2goove |60 mm'| awe 10| 9emm [cawso CCF6.0 35 291
Terminal: crimp connection 3goove | 10 mm | AWG 8 15mm | CCM-100 CCF-10.0 43 M
(HEL)SEZIEE /Crimp contacts.Gold-plated
R , HEkE | am | URS | gt | WS | Bl [t
Identfication |  Wire gauge _|Stripping length | oje | Part Numder | Female |Part Numder| B2 5 ©
no groove | 15 mm’| AWG 16 9.0mm DCM-1.5 DCF-1.5 175 i e
1goove [ 25 mm’| AWG 14 90mm | pem-2s DCF-25 225 9.6 !
1 groov e 40 mm’| AWG 12 9.6mm DCM-4.0 DCF-4.0 285 237
2 goove | 60 mm’[ AWG 10 96mm | DM-60 DCF-6.0 35
3 groov e 10 mm’| AwG 8 15mm DCM-10.0 DCF-10.0 43 F
TE Tools
B EfH Manual hydraulic clamp
EREEE e e
Wire gauge BIS/Type 1J585/Part Numder
1.5-6mm? CRIMPBOX-1.5/6
4-10mm ? CRIMPBOX-4/10
1E%t#8 Removal tool
1EFZEEL For HS/Type 1T£8S/Part Numder
40A BEE REMOV-GMK/40
Crimp contacts
S EIEEET Crimp contacts 70A BEET %4
($BIR) S [ERBHHET/Crimp  contacts.silver-platea o115
) 4 R & WakE | amt | OEE 8RS | 0Es | N '
b entfcaton |  Wire gauge _|Stipping length| ygie | Part Numder | Female |part Numder| B i\\\\\\\\\\\\\\“‘i\\\\\\\\\\\\\
Material: copper no groove | 10 mm’| AWG 20 155mm | GKSM70-10 GKSF70-10 43 l=l}t\\\\\\\\\\\\\\\\
$ERERE/Contact resistance: <1mQ —2°¢ [16mm °| WG 18| 15Smm |Gu7o-16 EEE 55 SN i}
’ Tgove |25 mm’| AWG 18 155mm - |GKSM70-25 GKSF70-25 70 i, B
B RETEER 35
Terminal® ~rimp connection M
’m o ——————
e——
oo p—
oy ) M
TH Tools
W&ESH Manual hydraulic clamp
ERERE o o
Wire gauge BI=/Type 1J 555 /Part Numder
10-240mm? CRIMPBOX-10/240

PAGE /378



BIEST RN T E / Crimp contacts pin and Tools

S EREIEST Crimp contacts 100A SEET

(HBER)SERERS/Crimp contacts silver-platea

L 58 78 ) AEEE | @ | URS | BER | %S Al
. Identification Wire gauge Stiipping length | yiale | Part Numder | Female [Part Numder| B
Material: copper no goove | 10 mm’| AWG 19mm | GKSM-10 GKSF-10 43
$ERMEBPA/Contact resistance: <3mQ | 90e | 16 mm’| AWG 19mm | GKSMH16 GKSF-16 55
Tgoove |25 mm'| AWG Tmm | GKsM-25 GKSF-25 70
37 44> 112 A nva
B RETEEE Rawma || 5 ol Al o Taons T 0
Terminal: crimp connection
) . —
‘b-‘_ o —zzzzZZ
=]
,==
—1T—A ,,:::,,
F
TH Tools
&EEH Manual hydraulic clamp
EEsE
Wire gauge BIS/Type 1J£55/Part Numder
10-240mm? CRIMPBOX-10/240
K
iR $+8% Removal tool
1EFIZEE! For AE/Type 1JE8S/Part Numder

REMOV-GMK/G2MK

7 100A &EE
Crimp contacts

& E#EEET Crimp contacts 200A SIEET

*=6

($B4R) IS [R5 /Crimp  contacts.silver-platea

M 49 iR e ke | oamt | THS 8@ | Tss | M

Identification | Wire gauge Stripping length| Male [part Numder | Female _|part Numder| Ef£
Material: copper no groove | 25 mm’| AWG 20|  75mm  |GHswo0-25 GHSF200-25 70
o . 1goove |35 mm'| AwG 18|  75mm - GHSF20035 82
JEREBE/Contact resistance: <1mQ - HSM200-39

1 goove |50 mm'| AWG 18 75mm  IGHSM200-50 GHSF200-50; 10
B RELEERE 2goove |70 mm'| Awe 16|  75mm  |GHsMa0o-70 GHSF200-70 115
Terminal: crimp connection

45.6

—22.5
\}g“;“\\\%\um\\\\\*
:

o ——
S e Fq>18
TH Tools
WRIESH Manual hydraulic clamp
Eﬁgﬁg =] > a=)=]
Wire gauge = /Type 1J 585 /Part Numder
10-240mm? CRIMPBOX-10/240

1234567890

PAGE /379



F(ekoncy)s

‘miBE(SmiE) / Coding pins

fRIBE(SmE) Coding pins

I
il
e
N
2
>
0
O

ERTFIRE—MESTELRIIINS
M F Mo F M F M F M F M

ERT AR MESTAELRAIS S

v o
o a
M F

RIS/ SR (ERANMER)

CI

e ofe o

| |
e oo e
| W —

% o e o
o o o o
M F

M F
o oo L] o olo - m - elo o - . o L]
COD-PIN-M3 '
kEr_nO - o oo - _xn_olo L o elo - o a o o
M F M F M F
@ ‘RiSH M-
O I[EFEiRsL F-BET
RiDHE/SOE(FESEIL) BERTHURE—MECIIERINS
fof e [efP9 EF" 9 [F9 T 3
b sJlood ol belod ol o G
M E M F M E M 1
@ O ¢ e v o] [0 O 0 O] [¢ o C « [0 o)
2 =il e i o | 9 i L) LC‘; il D
M F M F M F M F
CODING-PIN-M3-F b Jod kel kol d I lbo
M F M F M F M F

© v s . C [+ O T +[+ o] [0 +[+ & w +f+ o (e +f+ Ol
. 4 0o «ls O . sjs @ S +fs 8] O +]+ & L = I L Q)
M M F M E M F
0 efd w . . o] [« + O 0 s O] (@ +f+ = 0 +[+ O] |e -
s +s Of |0 t--&O a-i af [0 +|= = O +ls 8] (O +]+ @ = ++ O] | <+ O
M F M F [

o ++ 0] fs +[+ 0O G +]» O e <]+ o o +]= o) [0 ++ « fe ++ 0] [ <[+ O
0 +l+ O (=] —+ e |0 +[f+ = s o+l o [0 +}+ O = vy e (O | O

CODING-PIN-M3-M ' 5 F . F
fo T+ n O +[+ O T +f+ o] (@ ]+ o o v 8] [0+ )
. ++ J (=] - o s o e . . + = O * O

[ ) -%r'.:‘]?l.: M_/& lL;\
O SmE# F- A
+ [EEiRs

(EFLLRISH, Al RIEREERA%IRE.

PAGE /380



/ Accessories

#wi8Coding

BIS/Type

1J£85/Part Numder

COD-PIN-E

B=—="

© 2L, T30 G IR PR ) 1A

@ &M THEC, HEE, HE-5/0, HM-006, HM-008

® fEFIgRADHIN, AR PALA AEdeARE

@ Use of the coding pin prevents incorrect mating
to other connectors of the same type.

@ For HEC, HEE, HE-5/0, HM-006, HM-008

® The male pin should be omitted from the

opposing cavity in the male insert.

4% Code pin

BS/Type

17455 /Part Numder

COD-PIN-D

24

P ©

T ey

{5 FF b B, T S A 0 2% 1) R A

@ & T-HD, HDD, HMD-012, HMDD-017, HQ-7/0,
HQ-012/0

© MEFFIHIT, A4 RFLA e g

@ Use of the coding pin prevents incorrect
mating to other connectors of the same type.
@ For HD, HDD, HMD-012, HMDD-017, HQ-7/0,
HQ-012/0

® The male pin should be omitted from the

opposing cavity in the male insert.

124 Screw pin

BIS/Type

1J£85/Part Numder

COD-PIN-M4

E 124 Screw bash

BUS/Type

1T£8S/Part Numder

COD-PIN-T-M3

PAGE / 381



/frame ra

Z 428 Mounting

I
cd
=
N
e
>
0
O

FF4#42 Docking frame

M /Size RIS /Type JTH52/Part Numder HASH Technical characteristics
#1#} Material
6B G6B-ADK - RER
i G10B-ADK —Docking frame  stainless steel
o - 108 -mEEE % 8%
L ‘\ 16B G16B-ADK —Fixing screws  steel, zinc—plated
- 2 \" > 24B G24B-ADK #EAEZ Pull-in-range
~_ —x4i x—axis © 1.5m
< W —yhil y-axis S (o
R IR =500

Mechanical working life

RKIFFA Assembly cut put

l égfjiilﬁgil =
oo | »ol |l 4o

~-M3 M5
§ &r\ >

DIER BSEFLLBRERRA27Mm
[ #A26.5mm

Distance for electrical and F.O. contacts max. 27
mm; for pneumatic contacts max. 26.5 mm

25.8"

5

| jremlf
Lidgj ) [N-max.R2

7= &84 Range of delivery:
1T 1 frame

ANHELMEE, ATFEEERR
4 cheese head shoulder screws
to fix the docking frame

Msize| a b c d
6B 86 | 69 69 54.5 | 84
10B | 9 | 82 82 67.5 | 97
16B [119.5(102.5|102.5 | 88 |117.5
24B | 146 | 129 | 129 |114.5 | 144

o

PAGE /382



Tools

iB%t Contact removal tools

D-sud iB%t#% D-sub Contact removal tool

1BFIZER For BS/Type 1T£52 /Part Numder
SA RIEE REMOV-GMDS
Crimp contacts

GD/GDDiR%t#§ GD/GDD Contact removal tool
ISR For S /Type 1J£55 /Part Numder
10A QIEET REMOV-GD
Crimp contacts

GEE iB%t#% GEE Contact removal tool
EFZEEY For BS/Type 1J£55 /Part Numder
16A SEE REMOV-GEE
Crimp contacts

C#U jB%t#% Contact removal tool
1ERZER! For BIS/Type 1JE5= /Part Numder
40A QRS REMOV-GMK/40

Crimp contacts

K#! iRB%+8& Contact removal tool

1&FIZEE! For

BUS/Type

1755 /Part Numder

100A &EET
Crimp contacts

REMOV-GMK/G2MK

P8R Insertion Tool

ISR For

IS /Type

17555 /Part Numder

10A/1BAREBI ST TR

Insertion tool for crimp
contacts

REMOV-GD/GEE

PAGE / 383

IH
cd
R
N
S
>
0
O




Tools Fﬁ

E#T Btools
JE45H  Crimping tool 5A A EH BA Crimping tool
RS .
V\J_Ii%—ag%auge BU=/Type 1J£]S /Part Numder
0.09-0.82mm? CRIMPBOX-0.09/0.82
E44H  Crimping tool 10A/16A/40A % E £ 10A/16A/40A Crimping tool
Wire gauge BIS/Type 1J£55 /Part Numder
0.5-4mm? CRIMPBOX-0.5/4
1.5-6mm? CRIMPBOX-1.5/6
4-10mm? CRIMPBOX-4/10
JEESH  Crimping tool 100A/650A KERFF#&EH 100A/650A manual hydraulic clamp
EEAE 4
Qi}r’:%:auge BIS/Type 1JE2 /Part Numder i
Description
10-240mm’ CRIMPBOX-10/240
A Bt

Output: automatic
pressure release
. 13T
Output; 13T
EE: 6.2kg
Weight: 6.2kg

PAGE / 384



pi4 =M% Cable fittings and accessories rEKoncYE

PGHIZSS 22 (MRS B R PULEES
Cross Reference from PG thread to Metric thread PG Cross Reference Metric
PG11
BT mifRh EEIRSUR T, KA A IR A 5 @R IR R B A EEL AR R PG13.5 > M20
AT 2PGHIRK S N FIRR AT iRZE PG16 / M25
BFRRAATINBSEL RATRENBHERIT RN PG21 S M32
PG29
| Mo
PG36
PG42 M50
SRFOREN FZEEHE, P65 BHER BYKE | AMBE | RFEER | BEUMR 1T55
Cable sealing metal with multiple seal,IP65 A& Dk GL H ¢ AG Part Numder
mm mm mm mm mm
PG7 3-6.5 8 18 14 12.5
PG 9 4-8 8.2 20 17 15.2
PG 11 5-10 8.6 21 20 18.6
PG 13.5 6.7-12 9 22 22 20.4
PG16 10.2-14 10 23 24 225
PG 21 13-18 10 25 30 28.3
PG 29 18.5-25 12 30 40 37
PG 36 23-32 14 35 50 47
PG 42 32.7-38 14 38 57 54
PG 48 37-44 16.6 40 64 59.3
M12X1.5 3-6.5 8 18 14 12
HL: ERER Material: Nicked plated brass ROSED i 52 A 7 /2
M T ISR Seal material: NBR M20X1.5 6.712 9 22 22 20
kEZ (R ER Press seal material: PA M2ox15 L= 10 25 30 25
TRRE-40C~+100C  Temperature range: ~40C~+100C  _ M52X15 185725 12 30 40 32
PR :1P68 Protection degree: IP68 M40X1.5 23-32 14 35 50 40
M50X1.5 32.7-38 14 38 57 50
M63X1.5 37-44 16.6 40 64/68 63
B ARIRIE L E kD2 (TR RIRIPE) PG11 7-9 D21-11
Cable glands tube connectors(With rubber protective sleeve) PG13.5 9-13 D21-13.5
PG16 15-18 D21-16
PG21 18-21 D21-21
PG29 24-28 D21-29
PG36 32-36 D21-36
M16X1.5 Sal D21-16M
7-9
M20X1.5 =9 D21-20M
9-13
M24X1.5 ) D21-24M
13-15
M27X2 13-15 D21-27M
15-18
M30X2 omle D21-30M
18-21
M33X2 18-21 D21-33M
21-24
M36X2 21724 D21-36M
24-28
M42X2 24-28 D21-42M
28-32

PAGE / 385



4= g Z 3% | Cable fittings and accessories ra

g (R E)
Nylon flexible tube connectors

PG ERwE | @akE | wn | dEEE | & " -
Bl (@ GL) (1) ) H) AL £3 o o
PG7 AD10 9.5 7.5 34.5 34.5 WNCP-PG7/AD10 WNCP-PG7/ 5/16"
PG 9 AD13 9.5 11.5 34.5 34.5 WNCP-PG9/AD13 WNCP-PG9/ 3/8"
PG 11 AD15.8 9.5 14 36 36 WNCP-PG11/AD15.8
PG 13.5 AD18.5 11 16 39 39 WNCP-PG13.5/AD18.5
PG 16 AD21.2 13 18 44 44 WNCP-PG16/AD21.2
PG 21 AD28.5 13 23.5 47 47 WNCP-PG21/AD28.5
PG 29 AD34.5 11.5 30.5 47 47 WNCP-PG29/AD34.5
PG 36 AD42.5 13.5 40 52 52 WNCP-PG36/AD42.5
A RS BER =) o 1855
M12x1.5 AD10 10 8 17 34.5 WNCP-M12/AD10 WNCP-M12/ 5/16"
M16x1.5 AD13 9.5 11.5 20 34.5 WNCP-M16/AD13 WNCP-M16/ 3/8"
M18x1.5 AD15.8 9.5 14 23 36 WNCP-M18/AD15.8
M20x1.5 AD18.5 11 16 26 39 WNCP-M20/AD18.5
M20x1.5 AD21.2 13 15 29.5 44 WNCP-M20/AD21.2
M25x1.5 AD21.2 13 18 29.5 445 WNCP-M25/AD21.2
M25x1.5 AD28.5 13 20.5 37 47 WNCP-M25/AD28.5
M32x1.5 AD28.5 13 24 37 47 WNCP-M32/AD28.5
M40x1.5 AD34.5 51
M40x1.5 AD42.5 13.5 33.5 63.5 52 WNCP-M40/AD42.5
M50x1.5 AD54.5 13.5 42.5 63.5 53.5 WNCP-M50/AD54.5
M63x1.5 AD54.5 14 55 43.5 5815 WNCP-M63/AD54.5

ERUERL([EBRYE)
Metal flexible tube connectors

PG BRI HRES SNEER = 5 T8RS
Eﬂ%&ﬁﬂg (;Ag (GL)JE H?ID){ (Hx) L i Part Numder
PG 9 10 8.5 26 30 WNC-PG9/D10 WNC-PG9/ 5/16"

PG 11 12 10.5 27.5 32 WNC-PG11/D12 WNC-PG11/ 3/8"
PG 13.5 15 11.5 31.5 34 WNC-PG13.5/D15
PG 16 15 12.5 32 34 WNC-PG16/D15
PG 21 20 13.5 38 37 WNC-PG21/D20 WNC-PG21/ 3/4"
PG 29 25 15 45.5 44 WNC-PG29/D25 WNC-PG29/ 1"
PG 29 32 14 55 52 WNC-PG29/D32 WNC-PG29/ 1-1/4
PG 36 38 17 62 51 WNC-PG36/D38
PG 42 38 17 62 51 WNC-PG42/D38
PG 48 51 19 77.5 56 WNC-PG48/D51
o - % = == N Mk
ﬂg[\ﬂé;\fgig EEF(ECIE)A% E(%BE %D%{ '_(JH) A SRS Part Numder
M16X1.5 8 8 24 28 WNC-M16/D8 WNC-M16/ 5/16"
M16X1.5 10 8 255 30 WNC-M16/D10 WNC-M16/ 5/16"
M20X1.5 12 10 27.5 32 WNC-M20/D12 WNC-M20/ 3/8"
M24x1.5 15 11.5 32 34 WNC-M24/D15
M30x2.0 20 13 38 37 WNC-M30/D20 WNC-M30/ 3/4"
M36x2.0 25 13 45 44 WNC-M36/D25 WNC-M36/ 1"

PAGE / 386



IH
M= SRR / Cable fittings and accessories rGoncos) [
&
RRERY 2E =

ERTHRERENERYT ABERT.

R R -
mEE: TR =

‘ H
L A
T{EBE: -40T~+100C b R It
Material: Ploymide | )? e =
Seal material: NBR _[EHE —AG '
Press seal material: PA s
Temperature range: —40°C~+100°C
YMELL PIEREL HMZEI SRE WFERT (SW) BS 1155
(AG) (LG) (L1) mm (L2) mm (SW) mm Part Numder
PG HlHREL
PG Thread
PG7 PG9 8 20 19 WNSCP-PG7PG9
PG 9 PG11 10 24 22 WNSCP-PG9PG11
PG 11 PG13.5 8 23 24 WNSCP-PG11PG13.5
PG 13.5 PG16 8 25 27 WNSCP-PG13.5PG16
PG 16 PG21 10 27 30 WNSCP-PG16PG21
PG 21 PG29 11 32 42 WNSCP-PG21PG29
PG 29 PG36 11 35 52 WNSCP-PG29PG36
PG 36 PG42 13 42 60 WNSCP-PG36PG42
PG 42 PG48 15 65 65 WNSCP-PG42PG48
M 2 HIIREL
Metric Thread
M12x1.5 M16x1.5 8 22 20 WNSCP-M12M16
M16x1.5 M20x1.5 10 27 27 WNSCP-M16M20
M20x1.5 M25x1.5 8 25 30 WNSCP-M20M25
M25x1.5 M32x1.5 11 30 36 WNSCP-M25M32
M32x1.5 M40x1.5 15 34 45 WNSCP-M32M40
M40x1.5 M50x1.5 13 37 55 WNSCP-M40M50
R ZERLFRE
BRTFHEERZYERR/NIERT. SW
——LG
7H - BIZER
B T IR T
s o o T —47
TERE:-40C~+100C 2
Material: Ploymide Ly
Seal material: NBR @i(# AG
Press seal material: PA Searing ring
Temperature range: —40°C~+100C
YMELL PIIREL HMZEI SRE WFRT (SW) S 1T555
(AG) (LG) (GL) mm (H) mm (SW)mm Part Numder
PG R4
PG Thread
PG 11 PG9 8 15 24 WNSCP-PG11PG9
PG 13.5 PG11 9 21.5 22 WNSCP-PG13.5PG11
PG 16 PG11 10 16 27 WNSCP-PG16PG11
PG 16 PG13.5 10 17 27 WNSCP-PG16PG13.5
PG 21 PG16 11 17 39 WNSCP-PG21PG16
PG 29 PG21 11.5 17 39 WNSCP-PG29PG21
M RHHREL
Metric Thread
M20x1.5 M16x1.5 9.5 15 24 WNSCP-M20M16
M25x1.5 M20x1.5 10 17 27 WNSCP-M25M20
M32x1.5 M20x1.5 11.5 17 39 WNSCP-M32M20
M32x1.5 M25x1.5 11 17 39 WNSCP-M32M25
M40x1.5 M32x1.5 11 17 45 WNSCP-M40M32

PAGE / 387



fH%r= &% | Cable fittings and accessories

TR ZE

ERTHEERBUERT ANBERT

b BRER
BREH: TR
T1ERE: -40°C~+100C

Material: Ploymide
Seal material: NBR
Press seal material: PA

Temperature range: =40 C~+100C

THE AG

Searing ring
HMELL PIREL HMEEI BRE WFERT (SW) isi= TS
(AG) (LG) (L1) mm (L2) mm (SW) mm Part Numder
PG HIRE
PG Thread
PG7 PG9 B 8 17 WNSC-PG7PG9
PG9 PG11 6 10 20 WNSC-PG9PG11
PG 11 PG13.5 6 10 22 WNSC-PG11PG13.5
PG 13.5 PG16 6.5 11 24 WNSC-PG13.5PG16
PG 16 PG21 6.5 12 30 WNSC-PG16PG21
PG 21 PG29 8 13.5 40 WNSC-PG21PG29
PG 29 PG36 8 15.5 50 WNSC-PG29PG36
PG 36 PG42 9 14.5 57 WNSC-PG36PG42
PG 42 PG48 10 14.5 65 WNSC-PG42PG48
M 2 HIREL
Metric Thread
M12x1.5 M16x1.5 5] 8 18 WNSC-M12M16
M16x1.5 M20x1.5 6 10 22 WNSC-M16M20
M20x1.5 M25x1.5 8 185 27 WNSC-M20M25
M25x1.5 M32x1.5 7.5 13.5 35 WNSC-M25M32
M32x1.5 M40x1.5 10 13.5 45 WNSC-M32M40
M40x1.5 M50x1.5 10 14.5 55 WNSC-M40M50
M50x1.5 M63x1.5 9 14.5 65 WNSC-M50M63
ESREFIEE
ERTREESNEEH NIRRT Y
WL SRS Material: Ploymide t I ]
TEHE: THERR Seal material: NBR T @
T{EERE: -40C~+100°C  Press seal material: PA Li r 2
Temperature range: —40°C~+100C wiE AG
Searing ring
IMRLL PIEREY IMRLS BRE WFRT (SW) BS T8RS
(AG) (LG) (GL) mm (H) mm (SW)mm Part Numder
PG HIHRE
PG Thread
PG 11 PG9 7 11 20 WNSC-PG11PG9
PG 13.5 PG11 7 10 22 WNSC-PG13.5PG11
PG 16 PG13.5 7 11 24 WNSC-PG16PG13.5
PG 21 PG16 7 1 30 WNSC-PG21PG16
PG 29 PG21 8 13 40 WNSC-PG29PG21
PG 36 PG29 9 13 50 WNSC-PG36PG21
PG 42 PG36 9 15 57 WNSC-PG 42PG36
PG 48 PG42 10 15 65 WNSC-PG 48PG42
M 2 HIREL
Metric Thread
M20x1.5 M16x1.5 7 15 22 WNSC-M20M16
M25x1.5 M20x1.5 7 17 27 WNSC-M25M20
M32x1.5 M25x1.5 8 17 35 WNSC-M32M25
M40x1.5 M32x1.5 9 17 42 WNSC-M40M32
M50x1.5 M40x1.5 9 17 57 WNSC-M50M40
M63x1.5 M50x1.5 9 17 57 WNSC-M63M50

PAGE / 388



B P=m&E%! / Cable fittings and accessories rEKoncy)

felEEreB kL, P68 BATER BRKE | MBE | IRFER | BOUME | T
Cable gland,IP68, nylon sealing insert PG*E“;EQ >|@|< % Part Numder
mm mm mm mm mm
PG7 2-5/3-6.5 8 22 16 12.5
PG 9 2-6/4-8 8 26 19 15.2
PG 11 3-7/5-10 8 27 22 18.6
PG 13.5 5-9/6-12 9 28 24 20.4
PG 16 7-12/10-14 10 30 27 22.5
PG 21 9-16/13-18 10 35 33 28.3
PG 29 13-20/18-25 12 40 41/42 37
PG 36 20-26/23-32 14 48 52/53 47
PG 42 25-31/32-38 14 49 60/61 54
PG 48 29-35/37-44 14 50 64/65 59.3
PG 63 42-50 27 60 72 70
M2 ;HT 2;5 o Eﬁjﬁ(lbﬁljé BKE | MSE ﬂiifé BREHME 5 fi?de,
mm mm mm mm mm
M12X1.5 3-6.5 8 22 16 12
M16X1.5 4-8 8 26 19 16
M20X1.5 6-12 9 28 24 20
7k BB Material: Ploymide M25X1.5 13-18 10 35 33 25
B TBIRER Seal material: NBR M32X1.5 16-21 11 34 36-37 32
KEM: RRER Press seal material: PA M32X1.5 18-25 12 40 42 32
T{ERE:-40C~+100C Temperature range: —40°C~+100C M40X1.5 2930 14 48 57-53 40
FHiR&4%:1P68 Protection degree: IP68 M50X1.5 37-38 14 29 60/61 50
M63X1.5 37-44 14 50 67 63
EBSEL, BEEER, P63 P BAER BWKE | MBE | IRFER | BOUME | T8RS
Cable glands, Ip68, brass nicked—plated, nylon sealing insert *mg‘ 1Dk GL H % AG Part Numder
mm mm mm mm mm
PG7 2-5/3-6.5 5 18 14 12.5
PG 9 2-6/4-8 6 20 17 15.2
PG 11 3-7/5-10 6 21 20 18.6
PG 13.5 5-9/6-12 6.5 22 22 20.4
PG 16 7-12/10-14 6.5 23 24 225
PG 21 9-16/13-18 7 25 30 28.3
PG 29 13-20/18-25 8 30 40 37
PG 36 20-26/23-32 8 85 50 47
PG 42 25-31/32-38 9 38 57 54
PG 48 29-35/37-44 10 40 64 59.3

BBER BOKE | AMBE | RFER | BSUMR | iT5S

M{L\;gjgfﬁ >|®|< GL H % AG Part Numder
mm mm mm mm mm
M12X1.5 3-6.5 5 18 14 12
M16X1.5 4-8 6 20 17 16
1k EIPER Material: Nicked plated brass M20X1.5 6-12 6.5 22 22 20
B TR Seal material: NBR M25X1.5 13-18 7 25 30 25
KEM: Rl R Press seal material: PA M32X1.5 18-25 3 30 40 32
TIERE:-40C~+100C Temperature range: ~40C~+100C M40X1.5 22-30 8 35 50 40
BhIPE4R:IP68 Protection degree: IP68 MB50X1.5 30-38 9 38 57 50
M63X1.5 37-44 10 40 64/68 64

PAGE / 389



o
P
H
&
Al
l

==t == N . . »
[RERINERZERREFFFLR JF/Housing mounting dimensions ra
A |
G
c
2 - i
1
54 rdny s ‘| \G)
g |
sl wed LIS o m ] | (e e B RV ———— S
N :
]
\ 5 : 4
-~ | A
i : dd
F A
G3AFFFLIEEE G10A, G16A, G32AFFFLIKEE
G3A series housings G6B, G10B, G16B, G24B, G32B, G48BFF#L[EKEE
G10A, G16A, G32A series housings
G6B, G10B, G16B, G24B, G32B, G48Bseries housings
BRSNS 2R R~f/dimensions(mm)
Housing type Mounting type
abp P A B (¢} = = G $d
FrL &% /bulkhead 40 28 22 22 30 —-— 3.3
G3A
FEZEE/surface 39.5 39.5 - - 30 - 3.3
FrFLZ&%/bulkhead 81 30.5 58.5 24.5 18 70 3.5
G10A
FE&%E/surface 75 50 == == 40 48 4.5
FrlLZ%E/bulkhead 96.5 30.5 74.5 25 17.5 86 3.5
G16A
FE%%/surface 95 50 - - 40 64 4.5
FrFLZ%/bulkhead 101.5 56.5 74 49 42 92 4.5
G32A
FE%%</surface 106 56.5 == == 46 94 5.5
FrFL %% /bulkhead 80 43.5 53 36 32 70 4.5
G6B
FEZ%/surface 82 52 - - 40 70 5.5
FrL &% /bulkhead 92 43 66 36 32 83 4.5
G10B
FREZLEE/surface 94 52 == = 40 82 515)
FrFLZ&%/bulkhead 113 44 86 36 32 103 45
G16B
FE&%/surface 117 56.5 - - 45 105 55
FrFlLZ%E/bulkhead 139 44 113 36 32 130 4.5
G24B
FRmZ%E/surface 143.5 56.5 == = 45 132 515)
FrL &% /bulkhead 125 83.5 88 76 65 110 55
G32B
FE%4%/surface 124.5 81 - - 67 112 5.5
FrFLZ%/bulkhead 166.2 96.5 117 81 70 148 6.5
G48B
FEZ%/surface 141.5 120 - - 106 111 6.5

PAGE / 390



